20109 & =0l

3 Al

A

11

Al OH

=

-/

2
R
J2H

SN 28K

i MESD

(== O

el 23t
A

= 2HH

0 H

S

H [

110,937,298
41,159,833
35,218,000

4,367,625
5,764,047
24,427,793

106,498,435

4,438,863

A S o

110,891,998

41,159,833
35,218,000
4,367,625
5,764,047
24,382,493

106,466,435

4,425,563

M A &

61,435,297
40,574,833
3,290,000
5,726,247
11,844,217

54,209,829

7,225,468

40,000

26,000

14,000

10,000

10,000

10,000
10,000
10,000

10,000

202

25,000

15,000

10,000

01

25,000
25,000

15,000

10,000

203

5,000

1,000

4,000

03

5,000
5,000

1,000

4,000

o

46,497,035

40,147,500
6,349,535

39,749,934

6,747,101

o

46,497,035

40,147,500
6,349,535

39,749,934

6,747,101

01 XEXIEhH Xt

SRR

46,497,035

46,497,035

40,147,500
6,349,535

39,749,934

6,747,101

2,680,000

3,000,000

A320,000

2,680,000

3,000,000

/320,000

2,680,000
1,700,000
500,000

3,000,000

/320,000




SA: 235D
HM: MER2RAS HAHE BZ2e| (S22 /25H)
G 23 ME LAY (cte: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- (=] - T - = S = (O = 0:”/&,% VSso
238NN es2AtE 84 45,000
DY doist A ALY 100,000
mfR=S-amkl=1=T 35,000
Ogdagsngs 50,000
O2dsdA243 85 250,000
CXNE2HEL(01Y) 6,784,757 6,784,757 0
=2 5,353,847
(= 1,430,910
403 KX SHS K20l & 6,784,757 6,784,757 0
=2 5,353,847
[ 1,430,910
0l XSS x 6,784,757 6,784,757 0
OSXNESSFWES(01) 6,784,757
2 5,353,847
[= 1,430,910
CANESSFWESR G (0] ) 512,000 532,000 220,000
=2 372,400
[= 139,600
401 AlEHI L2 512,000 532,000 A20,000
=2 372,400
(= 139,600
01 Al&H] 508,200 528,200 220,000
OSXANESSFNELE Y 508,200
2 369,740
[= 138,460
03 Al&LHH 3,800 3,800 0
OSKNE2SWESRY 3,800
=2 2,660
(= 1,140
23 ML SE > 200,000 300,000 100,000
403 XX SHEX=0/H 200,000 300,000 100,000
0l XS =EEX 200,000 300,000 A 100,000
O2s 2222 200,000
2N E 2 A I A& Y| 136,500 0 136,500
=2 105,000
[ 31,500
403 XX SHS K20l & 136,500 0 136,500
2 105,000
[= 31,500
0l AXSN=EE=E 136,500 0 136,500
O2DMXNE 2 WA I AL EH 136,500
=2 105,000
[= 31,500
S THH S XAl A D= 3,713,000 3,817,138 A104,138




A 22
HH: MESSFLY HAHR B2l (2L 22 /235HH)
&t 23 ME=ZHI (etel: =3
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
ol 3,290,000
= 423,000
403 XiXISHH S X201 3,713,000 3,817,138 ~ 104,138
pJ 3,290,000
= 423,000
01 XXSHA2LE 3,713,000 3,817,138 A~ 104,138
O3 ML XA A2 S 3,713,000
pJ 3,290,000
== 423,000
ERSX2 LS LSAY 62,400 0 62,400
2 48,000
= 14,400
403 XiXISHHS X201 62,400 0 62,400
2 48,000
= 14,400
01 XXSHA2LE 62,400 0 62,400
(5= X2 MY SY A 62,400
2 48,000
= 14,400
MSIH=SEIH01Y 2| 41,005 0 41,005
2 36,333
= 4,672
403 XiXISHHS X201 41,005 0 41,005
2 36,333
= 4,672
01 XXSHA2LE 41,005 0 41,005
OS2 =101 L A D] 41,005
= 36,333
= 4,672
SXNESSTHYTHAI A DS 500,000 0 500,000
403 XX SHHS X201 500,000 0 500,000
01 AXESMIA2E = 500,000 0 500,000
OSXNEZHEHAI AR 2S 500,000
HI(MS)XZESAY 268,600 0 268,600
2 238,000
== 30,600
403 XX SHH S0l 268,600 0 268,600
2 238,000
L= 30,600
01 RXSHMA2E = 268,600 0 268,600
OGS (A2)ABBSAY 268,600
2 238,000
= 30,600
SIMES K 2,010,761 2,052,066 A41,305
2 20,000




22X 23
M MESS RN HAHE B2 (2L 22/25H)
e S2SMES XA (&9 ®M
_ ) _ pofEN
2N -3 - c2(3H) - NEME - HES Ol &F2H bﬂ/‘\_“’” Hns
J| 1,077,625
= 913,136
SSMESRNKAZA 25,000 27,000 A2,000
201 Let249h| 10,000 5,000 5,000
01 AtR22ldl 10,000 5,000 5,000
Y et=ZH| 10,000
OZIMESKNIFIMNIESHIS 10,000
202 OfHl 15,000 20,000 A5,000
01 2LHo bl 15,000 20,000 A5,000
OS2t MESXS =&Y 15,000
I 2N ESESHI XA 40,000 40,000 0
307 QI2t0| A 40,000 40,000 0
02 ItFAEX 40,000 40,000 0
Oy et MesesH A& 40,000
2RI L2 20,000 20,000 0
= 20,000
308 AXIHMSOIN 20,000 20,000 0
= 20,000
01 AXEHMBAEES 20,000 20,000 0
O=2K a2t 20,000
= 20,000
S E 228X A 455,236 365,766 89,470
J| 403,375
= 51,861
308 XAXHMSOIN 455,236 365,766 89,470
J| 403,375
= 51,861
01 XRXSHHBIAEEZ 455,236 365,766 89,470
O=tMES 22 HI K& 455,236
J| 403,375
= 51,861
SX2SHHAAZAIMA2S 876,525 755,300 121,225
J| 674,250
= 202,275
308 XAXHMSOIN 876,525 755,300 121,225
J| 674,250
== 202,275
01 XRXSHHBIAEEZ 876,525 755,300 121,225
O=SXS MBIl X 876,525
J| 674,250
= 202,275
oIEplS MS2SIMEna 28 44,000 40,000 4,000




22X 23
M. MER3A0 MAHE B2=22| (2L 22 /25 M)
e S2SMES XA (&9 ®M
5 o AT
2N -3 - c2(3H) - NEME - HES Ol &F2H bﬂ/‘\_“’” Hns
308 AXIHMSOIN 44,000 40,000 4,000
01 AXEHMBAEEZ 44,000 40,000 4,000
Odos0SdsSEtdEnadz2dg 40,000
IR =N I DAL 4,000
ASSor&el 550,000 0 550,000
307 QI2tol A 550,000 0 550,000
02 QI2ZtBAE X 350,000 0 350,000
OJZ=EFLENIASLANHINE AL 200,000
MEPIEE=D ESPNE] 150,000
05 IZtRAEZ 200,000 0 200,000
OZ3=SII 2 A EH &AL 200,000
L2 K S 1,081,140 1,742,640 A661,500
= 500,000
= 37,800
= 543,340
=k DU DN =N 25,000 1,000 24,000
201 et H| 10,000 0 10,000
01 AtR22ldl 10,000 0 10,000
O Bt~ZH| 10,000
ORE2IMANIZTAIREEHIS 10,000
202 04d| 15,000 1,000 14,000
01 2LH0 bl 15,000 1,000 14,000
PYEISMA =T 15,000
PEHSITHB M A0l L) 49,140 49,140 0
= 37,800
< 11,340
308 AXIHMSOIN 49,140 49,140 0
2 37,800
= 11,340
01 XRXHAHBAEZTZS 49,140 49,140 0
ORSE S HSIHAAHOIF) 49,140
= 37,800
= 11,340
LHLSIIMESNSASE 292,000 233,000 59,000
308 AXIHMSOIN 292,000 233,000 59,000
01 AXHMBAEXZ 292,000 233,000 59,000
OFRESIMESASAA 292,000
PEHEIIMERSHHM X 30,000 27,000 3,000
308 XAXHMSOIN 30,000 27,000 3,000
01 AXESHMBAEERZ 30,000 27,000 3,000




SN 28
HE:

¢ 28 X2 (&9 ®M
_ _ HE
2AH -3 - SH2A(SH) - MEAMY - BHES Ol &F2H 'Oﬁ/'\jo“ Hns
OFESIMESSHHX A 30,000
SN =0l SIHEH AL XA 15,000 15,000 0
308 AXIHMSOIN 15,000 15,000 0
01 AXEHMBAEES 15,000 15,000 0
O SXE =013 AHI X & 15,000
S e E X = A X 20,000 20,000 0
403 XXM SK=201H 20,000 20,000 0
01 AMXSMAEE=X 20,000 20,000 0
O2stMEerS 2L EXEE X 20,000
FEEME U 2HAHE 650,000 1,397,500 AT47,500
= 500,000
= 150,000
403 XX SHSK=20lH 650,000 1,397,500 AT47,500
= 500,000
< 150,000
01 AMXSMA2E=X 650,000 1,397,500 AT47,500
ORI ME N2 HE 650,000
= 500,000
= 150,000
S MANZFHZI LA 2L 535,000 1,262,000 AT727,000
= 50,000
= 485,000
SSHANEHB L AR 2L FE 35,000 52,000 A 17,000
201 Et29H| 20,000 20,000 0
01 AtR22ldl 20,000 20,000 0
O Bt~ZH| 20,000
O2SMAEHBLAR AL FIANRESHIS 20,000
202 O4H| 15,000 30,000 A 15,000
01 2LHHHI 15,000 30,000 A 15,000
O MAEFHZILAAZ 2L =R HI 15,000
SN 2Y 80,000 80,000 0
201 LEt29H| 80,000 80,000 0
01 AtR22ldl 80,000 80,000 0
=294 80,000
O M2+ LIAHIS 80,000
SN MF=HAAHBSILA | Jl= Ot 100,000 100,000 0
308 AXHMSOIN 100,000 100,000 0
01 XAXSHHBIAEEZ 100,000 100,000 0
OS2 MFHSAHZFOLH 2| I =0 100,000
=l JUDNRSERS PN ESENE 50,000 50,000 0




SN 28T
HE: HS2HRM HHUN SEH(2SUZ/25TH)
Sl 2SMXFHZ LA AL (9l & 2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
201 L2y 50,000 50,000 0
01 At 2ty 50,000 50,000 0
mEEE=Y] 50,000
OSSMNY AN EY 50,000
SyLeAAY 180,000 0 180,000
403 RHXISHH SR20|H 180,000 0 180,000
01 RXSHAZSE 180,000 0 180,000
A S 2 2HAI 0| LIA 212 180,000
HARASTHE=X 30,000 100,000 AT0,000
307 Q20| H 30,000 0 30,000
02 PIABAEE 30,000 0 30,000
[J2010& 2 RUIA D CH3I K= 30,000
SIROIAAIS MAURMNSHIIY 2R S=0s 60,000 0 60,000
= 50,000
= 10,000
308 XHXICHHI SO & 60,000 0 60,000
= 50,000
= 10,000
01 RXSHBABES 60,000 0 60,000
REEEEWEYEINS BIEE EEE 60,000
= 50,000
= 10,000
LSBT ENY 374,500 5,000 369,500
= 15,000
= 359,500
SO BN ALY 5,000 5,000 0
201 LBt Y| 5,000 5,000 0
03 A2 | 5,000 5,000 0
mEEL B EOV-EWEEE 5,000
SHRMBBAIY 200,000 0 200,000
307 QI2H0IH 200,000 0 200,000
02 BINANPBE 200,000 0 200,000
ORE0ANISHELER8T2Y 100,000
BEEEE PR 100,000
2RMEE X 150,000 0 50,000
308 KHXISHHI SO & 150,000 0 50,000
01 RASHBASES 150,000 0 150,000
T THStay Xl & S 5t 2 2 A E 5 100,000
[C RPN ETE- PN E=o 50,000
=25 OB FHI 19,500 0 19,500




A 22
HH: MESSFLY HAHR B2l (2L 22 /235HH)
ol St A ONY (etel: =3
o HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ol AF o8 HwsZ
2 15,000
= 4,500
403 THXISHHE =20l H 19,500 0 19,500
2 15,000
= 4,500
01 XXSHA2LE 19,500 0 19,500
(JSE23s et EF Y| 19,500
2 15,000
== 4,500
st My 45,455,300 47,194,900 1,739,600
2 35,218,000
= 10,237,300
S RANL A F=X 25,000 20,000 5,000
201 LEH2HH| 10,000 0 10,000
01 At22+2/H] 10,000 0 10,000
WETEIE =] 10,000
O3HZ2AMNLMLFEMNRESHIS 10,000
202 ol 15,000 20,000 A5,000
01 2LHoidl 15,000 20,000 A5,000
CI3CHEZ St AN AIE F& 15,000
BFANMESIEAZH 7,809,600 4,960,000 2,849,600
& 6,246,000
== 1,563,600
403 XX SHHSXH=01H 7,809,600 4,960,000 2,849,600
2 6,246,000
< 1,563,600
01 XXISHA2EZE 7,809,600 4,960,000 2,849,600
OBFANRIITAZY 7,809,600
2 6,246,000
L= 1,563,600
Fu2stdH 22N ALS 36,458,500 35,438,000 1,020,500
& 28,078,000
== 8,380,500
403 XHXISHHI S XH2 0l & 36,458,500 35,438,000 1,020,500
= 28,078,000
== 8,380,500
01 XXSHA2EE 36,458,500 35,438,000 1,020,500
SN2 2ZMNLAIY 36,458,500
e} 28,078,000
L= 8,380,500
SN2 ABAY 1,162,200 6,776,900 ~5,614,700
2 894,000
= 268,200
403 XXM SA=01H 1,162,200 6,776,900 A5,614,700




SN

=
& MESEstmat

o MAHE BE(SLBY/SEH)
el =2t oY (Ehel: =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
= 894,000
= 268,200
01 AXSMIA2E = 1,162,200 6,776,900 25,614,700
Os w232t 2 X3 ot ALY 1,162,200
& 894,000
e 268,200
HE 2L ZHI (23 D) (D1EHIIEH 45,300 32,000 13,300
Jl=2Z 4l 45,300 32,000 13,300
Jl=&d| 45,300 32,000 13,300
201 LEH2HH| 29,300 15,000 14,300
01 AtR22/Hl 29,300 15,000 14,300
O Et==ZH| 19,300
OJIZANRESS 19,300
BEEL] 10,000
O3 MAIH LR =S A 10,000
202 O 15,000 14,000 1,000
01 WY 15,000 14,000 1,000
L2 ALY 2 =8 0] 15,000
405 KHAHFESHI 1,000 3,000 A2,000
01 HARESF=H 1,000 3,000 A2,000
OwaEn 1,000




